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2nd Printing
Page 3 – Under heading Prefix Length Third paragraph, third sentence – “2n” should read as “2n”
Page3 – Under heading Prefix Length Fourth paragraph, third sentence – “2m – 2” should read “2m – 2”
Page 12 – The shading in Table 1-4 covers the first 16 bits – change the shading to cover the first 13 bits. See below (green shading).
 
	Network Number 
	First Octet 
	Second Octet 
	Third Octet 
	Fourth Octet 

	172.24.0.0/16 
	10101100 
	00011000 
	00000000 
	00000000 

	172.25.0.0/16 
	10101100 
	00011001 
	00000000 
	00000000 

	172.26.0.0/16 
	10101100 
	00011010 
	00000000 
	00000000 

	172.27.0.0/16 
	10101100 
	00011011 
	00000000 
	00000000 

	172.28.0.0/16 
	10101100 
	00011100 
	00000000 
	00000000 

	172.29.0.0/16 
	10101100 
	00011101 
	00000000 
	00000000 

	172.30.0.0/16 
	10101100 
	00011110 
	00000000 
	00000000 

	172.31.0.0/16 
	10101100 
	00011111 
	00000000 
	00000000 


Page 22 – Figure 1-10 – The 172.16.2.0/24 above the segment connecting routers A and B to 172.16.1.0/24. 

Page 49 – First sentence – “108/1,544,000” should read as “108/1,544,000”
Page 55 – Third paragraph, last sentence – “n * (n-1)/2” should read “n(n-1)/2”
Page 182 – Password Recovery – “athttp://www.cisco.com/en.US/products/sw/ioss-wrel/ps1831/produxts_tech_note09186a00801746e6.shtml” should read “at 
www.cisco.com/en/US/products/sw/iosswrel/ps1831/products_tech_note09186a00801746e6.shtml”
Page 202 – Chapter 3 Last Paragraph – First Sentence


Change “Normally, a port transitions from learning state to forwarding state in 30 to 50 
seconds”


Should read “Normally, a port transitions from blocking state to forwarding state in 
30 
to 50 seconds”

Page 272 – 11. B 


“B is right because 32 x 30 = 2, and 22 – 2 = 4 – 2 = 2”


Should read “B is right because 32 - 30 = 2, and 22 – 2 = 4 – 2 = 2”

Page 282 – Solution to Question 8 (asks for 3 answers but 2 are only listed)

Answer changes for Page 282 question 8


Lists A, E

Correct Answers - A, C, E

